Tower(a) 01TAO3, inclusive ADC a01TAO3

— : : : Entries 504000
10° e A T AR N Mean -0.006884
= : : : : RMS 1.791
F Integral 5.04e+05
10 = [T X2 / ndf 231717
| : : : Constant 1.897e+05 + 344
10° 0 S | T e e Mean -0.1401+ 0.0015
= ' ' : : Sigma 1.044 + 0.001
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Tower(d) 01TA03, ADC, tag: UxV 2*thr | dO1TAO3

: Entries 106
Mean 10.73
RMS 6.599
Integral 106
X2 / ndf 7.943/9
x0 8.258 + 0.182
aL 24.33 £ 3.77
sigL 1.27 + 0.69
sigG. 1.076 + 0.142
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Tower(a) 01TBO3, inclusive ADC

5
10
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10

10

a01TB03
Entries 504000
Mean -0.07659
RMS 1.98
Integral 5.04e+05
X2 / ndf 2108 /8
Constant 1.76e+05 + 318
Mean -0.227 + 0.002

Sigma 1.125+ 0.001

Tower(d) 01TBO3, ADC, tag: UxV 2*thr dO1TBO3
— Entries 145
- Mean 11.83
25— RMS 8.567
= Integral 144
ol X2 / ndf 7.904/9
~ x0 8.387 + 0.188
15 - aL 24.82 + 2.98
= sigL 1.508e+04 + 18396
- : L | SIQG 1.386 + 0.141
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Tower(a) 01TCO3 , inclusive ADC a01TCO03
— : Entries 504000
Mean -0.3669
RMS 1.898
Integral 5.04e+05
x2 | ndf 3270/7
Constant  2.054e+05 + 375
: Mean -0.5221+ 0.0014
Sigma 0.9626 + 0.0011
(1R R R |
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d01TCO03
Entries 118
30 Mean 10.69
RMS 7.308
25 Integral 118
. X2/ ndf 3.985/5
: x0 8.189 + 0.193
: aL 25.43 + 3.50
: sigL 2.201+ 7.296
; sigG 1.263 + 0.162
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Tower(a) 01TDO3 , inclusive ADC
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10°
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a01TDO03

.....................................................................

N O T

504000

-0.2512

1.838

5.04e+05

3491 /7
2.215e+05 + 407
-0.4068 + 0.0013

Entries
Mean
RMS
Integral
X2 / ndf
Constant
Mean

Sigma 0.892 + 0.001

Y T coegeeeee]

60

Lo,
80 100 120

ADC-ped

d01TDO03

...................................................

133

10.14
5.839

133
6.739/8

8.141+ 0.160
28.27 + 3.59
1.421+ 0.708

Entries
Mean
RMS
Integral
X2 / ndf
x0

aL
sigL

...................................................................................................................

sigG 1.288 + 0.148
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Tower(a) 01TEO3, inclusive ADC a01TEO3

: : : : Entries 504000
...... 3 BUURRSSSUOURN SSSOOURSSRSSOOOO SOSSOOUURRROOOON NN B [T g 0.05077

: : : : RMS 1.798
Integral 5.04e+05
X2 / ndf 2378/ 7

: : : : Constant 1.9e+05 + 345
------ R T S A I\, (=3l -0.0799 £ 0.0015

...................................................................................

Sigma 1.043 £ 0.001

.............................................................................................................................

........................................................................................................................................

dO1TEO3

30 = Eher R ——— — Entries 106
5 f f .| Mean 10.51
RMS 7.309
Integral 106
g | g .| x2/ndf 2.337/6
= s H I e 1 x0 8.222 + 0.161
ik .| aL 27.56 + 4.49
1B R S 1 sigL 3.842 + 14.890

25— ; T SR .

: , : .| sigG -1.045+ 0.129
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Tower(a) 02TAO03 , inclusive ADC

5
10
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10°
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10

a02TAO03

Entries

| IIIIIIII| IIIIIIII| IIIIIIﬂ] IIIIIIII| IIIIIIII| [TT

Mean
RMS
Integral
X2 / ndf
Constant
Mean

504000
-0.6256
1.648
5.04e+05
412117

2.385e+05 + 438
-0.7589 = 0.0013

Sigma

0.8292 + 0.0010
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Tower(d) 02TA03 , ADC, tag: UxV 2%thr | d02TAO3

= : : Entries 96
- [ Mean 9.911
- RMS 7.44
Integral 95
X2 / ndf 6.487 /5
x0 7.719+ 0.176
aL 23.47 + 3.18
sigL 7259 + 16397.1
sigG -1.065+ 0.129
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Tower(a) 02TBO3 , inclusive ADC a02TB03

= Entries 504000
P O N OO T S Mean -0.4686
= RMS 1.848
~ Integral 5.04e+05
10" gy X2 I ndf 3939 /7
— Constant 2.353e+05 + 433
10° i e eeee e Mean -0.626 £ 0.001
= Sigma 0.8394 + 0.0010
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Tower(d) 02TB03 , ADC, tag: UxV 2*thr | d02TB0O3

45 : Entries 159
40 [ Mean 10.85
RMS 7.274
35 ! Integral 159
20 l X2 / ndf 7.489/8
: x0 7.88+0.14
25 . aL 36.24 + 4.41
- ! sigL 0.9883 + 0.2508
| SIgG 1.137+ 0.123
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Tower(a) 02TCO03, inclusive ADC a02TC03

Entries 504000
Mean -0.2643
RMS 1.885

: : : : Integral 5.04e+05
""" et Rt S S I MY | 3253 /7

? Constant  2.118e+05+ 388
------------ b Mean -0.4236 + 0.0014

Sigma 0.9328+ 0.0011

d02TCO03

Entries 133
: v : : Mean 10.37
- s S .| RMS 7.094
o .| Integral 133
25 e e o - X2/ ndf 5.989/7
N .| x0 7.92+0.17
20 B s e | aL 25.83+ 1.57
= | : : sigL 4.741e+04 + 22633

35— R (R R oo =

15 e B I e “LsigG _1.354 0.080
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Tower(a) 02TDO03 , inclusive ADC a02TD03
— Entries 504000
10° Mean -0.06488
= RMS 1.912
— Integral 5.04e+05
100 - X2 / ndf 2893 /7
- Constant 2.032e+05 + 370
10° = Mean -0.223+ 0.001
= Sigma 0.973 + 0.001
T S e
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Tower(d) 02TD03 , ADC, tag: UxV 2*thr d02TD03
= : : Entries 134
e Mean 11.03
— RMS 7.5
25— Integral 133
- X2/ ndf 5.429/9
20— x0 8.428 + 0.159
- aL 27.62 + 3.55
15— sigL 1.202 + 0.447
— . o : sigG 1.343+ 0.151
10 e --------------- ------------------ ------------------------------------------ e .
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Tower(a) 02TEO3, inclusive ADC

a02TEQ3

5
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Entries
Mean
RMS
Integral
X2 / ndf
Constant
Mean

504000

-0.5174

1.853

5.04e+05

2347 /8
1.732e+05 + 313
-0.6462 + 0.0017

Sigma

1.145+ 0.001
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Tower(d) 02TEO3 , ADC, tag: UxV 2*thr | dO02TEO3
: : Entries 108
Mean 10.12
RMS 6.165
Integral 107
X2 / ndf 4.924 17
x0 7.977 £ 0.190
al. 21.71+ 3.55
sigL 1.62e+04 £ 20234
sigG. 1.338 + 0.224
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Tower(a) 03TAO3, inclusive ADC

a03TAO3

504000
-0.1239
1.754
5.04e+05
333717

2.224e+05 + 408
-0.2641+ 0.0013

Entries
Mean
RMS
Integral
X2 / ndf
Constant
Mean

Sigma 0.8895 + 0.0010
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125

10.7
6.123

125

244117
8.491+ 0.128
33.21+ 5.40
1.4+0.7
1.001+ 0.153

Entries
Mean
RMS
Integral
X2 / ndf
x0

aL
sigL
sigG
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Tower(a) 03TBO3 , inclusive ADC a03TBO03

— Entries 504000
10° ey Mean -0.5785
= RMS 2.108
N T T e Integral 5.04e+05
10 E x2 / ndf 1633 /8
, — Constant 1.48e+05 + 266
107 i by Mean -0.7235 + 0.0020
E Sigma 1.34+ 0.00

102 b S e
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Tower(d) 03TB03, ADC, tag: UxV 2*thr dO3TBO3

25 : Entries 111
Mean 9.473
RMS 5.187
20 Integral 111
X2 / ndf 2.708 /8
15 x0 7.822 + 0.208
aL 19.66 + 2.73
sigL 1.087 + 0.567
10 SigG. | 1.709 1.0.217
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Tower(a) 03TCO3, inclusive ADC a03TCO03
— Entries 504000
105 - Mean -0.2164
= RMS 1.919
- Integral 5.04e+05
10* = X2 / ndf 2914 /7
— Constant 1.953e+05 + 356
10° = Mean -0.3739 + 0.0015
= Sigma 1.012 £ 0.001
102 = : :
10 ;—
1= 120
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Tower(d) 03TCO3, ADC, tag: UxV 2*thr d03TC03
04 — : ' Entries 104
22 F- Mean 10.71
oE RMS 7.422
s =5 Integral 104
= x2 / ndf 6.682 /7
= X0 8.427 + 0.199
= al 19.56 + 2.74
12 sigL 0.6627 + 0.3227
10 sigG 1.539+0.181
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Tower(a) 03TDO03 , inclusive ADC

a03TDO03

Entries 504000
Mean -0.3274
RMS 1.852
Integral 5.04e+05
X2 / ndf 3712 /7
Constant 2.243e+05 + 413
Mean -0.4881+ 0.0013

0.8803+ 0.0010

d03TDO03

Entries 132
Mean 10.05
RMS 5.896
Integral 132
X2/ ndf 12.2/8
X0 7.777 £ 0.134
aL 31.21+ 4.06
sigL 1.039 + 0.336
sigG 1.076 + 0.134
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Tower(a) 03TEO3, inclusive ADC a03TEO3

: : : : Entries 504000
______ bbb Mean -0.7

5 5 5 5 RMS 1.813
Integral 5.04e+05
X2 / ndf 3022 /8

: : : : Constant 1.882e+05 + 342
------ T bk Mean -0.8331+ 0.0016

5
10

10

3
10

Sigma 1.053 + 0.001
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Tower(d) 03TEO3 , ADC, tag: UxV 2*thr | d03TEO3

= : — : : Entries 115
= A R AV S A o Mean 10.35
A Tl N M P e RMS 7.122

------ bbb INtegral 114
I SRR S S .| X2/ ndf 6.062/8

x0 7.467 + 0.195
aL 20.39+ 2.81
siglL 1.258 + 0.279
sigG 1.5+ 0.2
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